
AC TAPE HEAD
PRESSURE SENSITIVE CARTON SEALER TAPE HEAD

HIGH SPEED KNURLED BRASS ROLLER OPTIMIZING ARM

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

2" Top Spare Parts Kit Part#:

AC20U000-SPK

2

2

2

2

1

4

4

AC231300

AC232000

10122

10315

10096-1

10117

10116

Roller, Rubber Front 2"

Roller, Rubber Rear 2"

Blade, Cutter 2"

Cushion, Blade 2"

Spring, Main (Top)

Bumper, Rubber M15x7

Bushing, Bumper M8x7

QUANTITY PART NUMBER DESCRIPTION

VERSION 1.0_0523WWW.BESTPACK.COM

© 2023 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.

EXPERIENCE • COMMITMENT • COMMUNITY



AC TAPE HEAD
PRESSURE SENSITIVE CARTON SEALER TAPE HEAD

HIGH SPEED KNURLED BRASS ROLLER OPTIMIZING ARM

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

2" Bottom Spare Parts Kit Part#:

AC20B000-SPK

QUANTITY PART NUMBER DESCRIPTION

2

2

2

2

1

1

4

Roller, Rubber Front 2"

Roller, Rubber Rear 2"

Blade, Cutter 2"

Cushion, Blade 2"

Spring, Main (Bottom) Chrome

Bumper, Rubber M15x7

Bushing, Bumper M8x7

AC231300

AC232000

10122

10315

10096-2

10117

10116

VERSION 1.0_0523WWW.BESTPACK.COM

© 2023 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.

EXPERIENCE • COMMITMENT • COMMUNITY



AC TAPE HEAD
PRESSURE SENSITIVE CARTON SEALER TAPE HEAD

HIGH SPEED KNURLED BRASS ROLLER OPTIMIZING ARM

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

3" Top Spare Parts Kit Part#:

AC30U000-SPK

QUANTITY PART NUMBER DESCRIPTION

2

2

2

2

1

4

4

Roller, Rubber Front 3"

Roller, Rubber Rear 3"

Blade, Cutter 3"

Cushion, Blade 3"

Spring, Main (Top)

Bumper, Rubber M15x7

Bushing, Bumper M8x7

AC331300

AC332000

10122-0

10315-0

10096-1

10117

10116

VERSION 1.0_0523WWW.BESTPACK.COM

© 2023 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.

EXPERIENCE • COMMITMENT • COMMUNITY



AC TAPE HEAD
PRESSURE SENSITIVE CARTON SEALER TAPE HEAD

HIGH SPEED KNURLED BRASS ROLLER OPTIMIZING ARM

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

3" Bottom Spare Parts Kit Part#:

AC30B000-SPK

QUANTITY PART NUMBER DESCRIPTION

2

2

2

2

1

4

4

Roller, Rubber Front 3"

Roller, Rubber Rear 3"

Blade, Cutter 3"

Cushion, Blade 3"

Spring, Main (Bottom) Chrome

Bumper, Rubber M15x7

Bushing, Bumper M8x7

AC331300

AC332000

10122-0

10315-0

10096-1

10117

10116

VERSION 1.0_0523WWW.BESTPACK.COM

© 2023 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.

EXPERIENCE • COMMITMENT • COMMUNITY


